LIHEAP Payment Calculation Instructions FY2021

Income Limit is 60% of the State Median Income, this is the gross income.  
Use the LIHEAP Payment Table to determine the base payment amount based on household size and gross income received. 
Once the base LIHEAP payment amount is determined then you use the LIHEAP Percentage Increments sheet for the type of heating that the client uses.
Once that increment is determined then you multiply the base LIHEAP payment amount by the percentage increment to determine the actual LIHEAP payment.

For example, there is a household of 2 and the gross monthly income is $1500 per month.
You would review the LIHEAP Payment Table and see that a household of 2 with a gross monthly income of $1500 would have a LIHEAP base payment of $240.
The household reports that their main source of heat is electric.
You then review the LIHEAP Percentage Increment and find the percentage for electric, which is 1.400 percent.  
You take the LIHEAP base payment of $240 and multiply that by 1.400% which should give you a LIHEAP payment of $336.




